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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 922079401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In case of light falling on a surface, the ratio of reflected light energy to the incident light energy is knowrn as:
Options:

1. ¢ Reflection factor

2. ¥ Diffusion factor

3. % Refraction factor

4, % Absorption factor

Question Number : 1 Question Id : 922079401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Tt FAE O U1 o US U, WA id @ WeRTaT Sl SI% ST T WerTar 1 o STguTd i ol eT AT 57

Options:

1. & WRIad T 0
2. % TERRoT R

3. % amEdd T
4 ® SrEsieur TR

Question Number : 2 Question Id : 922079402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following has the lowest luminous efficacy?

Options:

1. # Sodium lamp

2. ¥ Halogen lamp

% % Fluorescent lamp
4. % Mercury lamp

Question Number : 2 Question Id : 922079402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
T # o padt =aife SoaT @y FH s 87

Options:

1. % |izawRdm

2. ¥ FAT I

3. % giEciastE S
4. ¥ qrgEm

Question Number : 3 Question Id : 922079403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Wherl a FErsor tonches the ElECtI‘iCﬂll‘j.T live part ofa dEViCE, the pOtEﬂtiEll betweer; the hand and the foot is
knosw as;

Options:
1. % Body potential
2. % Step potential

= ¢ Touch potential
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4. % Hand potential

Question Number : 3 Question Id : 922079403 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
el 1S et Tt FeReor o TR e & & oTe W T w0 war 8, a7 gr oW 0% o i o TonTe @ e el ST 27

Options:

1. % R feva
2 % e e
3 o fong
4, % e v

Question Number : 4 Question Id : 922079404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
For sermi-enclosed rewirable fuses, the fusing factor is usually:

Options:

1. % 145
o v 149
3 %05

4 ® pog

Question Number : 4 Question Id : 922079404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

aref-uigd O TR-TTT 9 o T, EE 0 AR 0 BT 8l
Options:

1. % 145

2 v 14g

3 %05

4 % 0495

Question Number : 5 Question Id : 922079405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

which of the following methods CANNOT be used to control the speed of a squirrel cage induction motor
(SCIMYY

Options:

1. ¥ Stator voltage control

2. % Stator frequency control

Z. % Stator voltage and frequency control

4. % Rotor resistance control

Question Number : 5 Question Id : 922079405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A T UROT AT (SCIM) T =Tl @ =T @ o To Toaieiea | & fomy T2 @ Sua ag e = | 57

Options:

1. % &t diwedy o=

o % g sghy R

3. ® o dlvedT AR g
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4 gufar g fzE

Question Number : 6 Question Id : 922079406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
& single-phase half-wave converter DO drive gives

Options:

1. ¥ one
= % two
3. % three

4 % frur

quadrant operation |s.

Question Number : 6 Question Id : 922079406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T el aref-aam afvad® g gm0 =me— ______ TT-EZ WTed 24T 21
Options:

1. ¥ um

o % g

3 ® 9

4. % gx

Question Number : 7 Question Id : 922079407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A chopper driven DC series motor i3 supplied through a DC source of 600 V. If the duty cycle of the chopper is
50%, what will be the terminal voltage for the motor?

Options:

1. % B00OW
2. ¥ Ze0W
3.0% 200V
4 % 180V

Question Number : 7 Question Id : 922079407 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
T AT TTieid ToP &R (DC) SFEeT Afed B 600 W o S8 eI FiT o BTl & SIT95a ol SA1d T g1 e 9% 37 JuET SuTa
S0% T, T Hiey o T 10 aieedT &ar g7

Options:

1. % 800V
2. ¥ ZB0V
3% 200V

4. % 180V

Question Number : 8 Question Id : 922079408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In Field Effect Transistor (FET), the ratio of change in drain current to the chiange in gate-source voltage at
constant drain-source voltage 1s Called:

Options:
1. % Transconductance
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= ® & drain resistance
3. % Amplification factor

4. % pinch-off voltage

Question Number : 8 Question Id : 922079408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

8 WATTAT gifaeet (FET) ® T (27) Teefre ™y o sl & T | dives o, T Wl (29 - | Al U%, ST 47
AT 57

Options:

1. ¥ TETed

2. % gooTad | e (AC) 24 Hider
3 % el TR

4 # Hgod dieear

Question Number : 9 Question Id : 922079409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Irna EJT hawing a corrunon base connection, ermitter current is 1 mé and collector current is 095 méd . What will
be the base current?

Options:

1. % 1.95ma
2. % 1ma

3 % (095 mai
4. ¥ 0.05 ma

Question Number : 9 Question Id : 922079409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
%ﬁwwmwfﬁzﬁéﬁﬁ?ﬁaﬁwmﬂﬁ Foeie AT 1 md 3T T 4T 0,95 A B ST AR a7

Options:
1. % 195 ma

o ® 1ma
2. % 095 ma
4 % 0.05 ma

Question Number : 10 Question Id : 922079410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The interbase resistance EBB) of a U]JT is of the order of;

Options:
{ ® 100 Qto 1000 Q

> % 1000 € to 5000 Q
= « 5000 Q to 10000 Q

4 % 10000 Q to 50000 Q
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Question Number : 10 Question Id : 922079410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Tepelt - T TEr aTaeeT o S-S niaere (REE) FITE FT AT 21

Options:
. % 100 Q1000 O

> % 1000 Q¥ 5000 Q
- v 5000 Q¥ 10000 Q

4, % 10000 Q ¥ 50000 Q

Question Number : 11 Question Id : 922079411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The process of making an operating point independent of temperature changes or variations in transistor
parameters is knowr as:

Options:

1. # Biasing

2. ¥ Stabilisation

= ® Thermal runway

4. % Amplification

Question Number : 11 Question Id : 922079411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TIHT o witerd 1 o7 gifaeet were! # TEferedTsit & g Wren Tog e i Wi @1 a7 oyl ST 37
Options:

1. % srieEeT @ )

2. o ToTeftae

3. ® R UATE (HA T

4. % el

Question Number : 12 Question Id : 922079412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A transistor amplifier has a voltage gain of 15 db. If the input signal voltage is 0.8 ¥, what will be the output
voltage?

Options:
1.9 457V

o 54y
3 R 1zy
4 ® 70y

Question Number : 12 Question Id : 922079412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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T gIiaeet Herear @i afeedT dted 15 db 81 Afe e (590 "9 aieedT 0.8 WV 51 af Tiw (am3eqe) afwedT &= giit?
Options:

1. 45V

o %54y

3 %12V

4 ® 75y

Question Number : 13 Question Id : 922079413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In a phase shift oscillator, the frequency determining elements are:

Options:

1. % Land C
2 ¥ R LandC
3 ¥ RandC
4 % RandlL

Question Number : 13 Question Id : 922079413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
T U feeame gifea | e oo a0

Options:

1. % Lafwe
o %R LaRC
3 VYR RC
4 % RaRL

Question Number : 14 Question Id : 922079414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What causes the depletion layer?

Options:

1. % Doping

2. % Barrier potential
3. % Free electrons

4 % Recormbination

Question Number : 14 Question Id : 922079414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ST T Terer T E 1T 27

Options:

1. % i (Zim
2. ® fourg TfdeT
3. % oh galag

4 & 7T "I

Question Number : 15 Question Id : 922079415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

If the line frequency is 50 Hz, the output frequency of a bridge rectifier is:
Options:

1. ¥ 25 Hz

2 ® S0Hz

3. ¥ 100 Hz

4 ® 200 Hz

Question Number : 15 Question Id : 922079415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT AR g 50 Hz 57 a7 5 famarmer 31 fniA angir = g
Options:

1. % 25 Hz

2 % S0H:z

3 ¢ 100 Hz

4 # 200 Hz

Question Number : 16 Question Id : 922079416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In a Kit Kat fuse, cutout is:

Options:

1. ¥ Fuse base
2. ¥ Fuse carrier
% # Fuse wire

4. % Phase wire

Question Number : 16 Question Id : 922079416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
RE N T T i e T 1 BT 8

Options:
1. % T AT
2. ' wgA aEw

3 % AR
4 % A IR

Question Number : 17 Question Id : 922079417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A& fuse wire made of which of the following materials has the highest melting point?

Options:
1. #¥ Tin
2. % Lead
= ¥ Silver

4 ® aluminum

Question Number : 17 Question Id : 922079417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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TrafeiaT o & Ry amift & o v TR § o e gae afie g a7
Options:

1. % fa7

2 % der

3 ¥ gt

4 % eyt

Question Number : 18 Question Id : 922079418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the f-:}ll-::-wing wirirlg systems is the best for domestic and cormmercial installations?

Options:

1. % Conduit wiring
2. % Cleat wiring

% % CT.5. wiring

4, % Wooden casing and capping wiring

Question Number : 18 Question Id : 922079418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
FERET & & B9 A TR-FT TR T, 1R AT e BBl o W0 Hee SRl gl a7

Options:

1. ¢ FHE(ge TR T

2 % T I =

3 ¥ CT5 IR s

4. % ST T T ST IO AT

Question Number : 19 Question Id : 922079419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
& universal motor 15 one which:

Options:

1. # iz available universally

2. % can be marketed internationally

3. ¥ can be operated on DC or AC supply

4. % rotates in only one direction

Question Number : 19 Question Id : 922079419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Tl Alet & T ae0 57

Options:

1. % T\ ed=E o d I 5T

2, % T APy 9 0E [0 9T = 99T g

3. o T 1T AT AT UedTed | AT WETd U WElled 5f deal g
4 % S drael U T | Ui w e

Question Number : 20 Question Id : 922079420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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which of the following methods is NOT used for speed control of a universal motor?
Options:

1. # Resistance method

2. % Tapping field method

% ¥ Centrifugal mechanism

4. % Stator frequency control

Question Number : 20 Question Id : 922079420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AT ek HIeT & DIl [-I2a0 g =i ad § & T fefer a7 qu=r gl & =mar g7

Options:

1. % giderer fafer

2 % U (st fmwmae) o=t
3 % g ad

4 et s ReE

Question Number : 21 Question Id : 922079421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The rotor of a one-phase induction motor is;

Options:

1. ¥ always a wound rotor
2. % g cage or a wound rotor
= ¥ always a cage rotor

4. % adouble Cage rotor

Question Number : 21 Question Id : 922079421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

- UROT HieT 2T uier |

Options:

1. ¥ gia geied Piw grar g

2 % e U0 srmET g o guie 2T g
3. ¢ | o e g e

4. % g - TS ol gt 8

Question Number : 22 Question Id : 922079422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In a synchronous motor, the magnitude of stator back EMF. depends on:

Options:

1. # speed of the motor

2. % load on the motor

Z. % the speed and rotor flux

4 % D.C excitation

Question Number : 22 Question Id : 922079422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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e qrardT i Oied H, TaT veey Tered arger et @1 Ui __________ e Ferft T B
Options:

1. % it & =

2. ® AW ER

3. % o oK guie sifvarg
4 & TaE oy FoEH

Question Number : 23 Question Id : 922079423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

& four-pole three-phase induction motor operates at a supply frequency of 50 Hz. Find the speed of rotating
magnetic field of the stator.

Options:

1. % 1000 rpm
2. % 1250 rpm
3. ¥ 1500 rpm
4, % 2000 rpm

Question Number : 23 Question Id : 922079423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
T AR-gJd T =-0 W0 A2 50 Hz @1 0T STt OF Welleld #ea [ 5 ©oot o Uil ek 9 &= S ol ol 0T F

Options:

1. ¥ 1000 gof= ufd fime
2. % 1250 99 Aid fiFe
2. ¥ 1500 Tof9 wid e

4. % 2000 goiq Aid fiFe

Question Number : 24 Question Id : 922079424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A syrichronous motor is operating at constant load and its excitation is adjusted to give unity power factor. If
the excitation is further increased, the power factor will be:

Options:

1. % zero

2. % unity only
= ¥ leading

4. % lagging

Question Number : 24 Question Id : 922079424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
T ek lioier HICT o AT U W B¢ (51 & 31 SE®T o Uk A 0T o & fong auraita g1 3ty Fo=m &1 & e
AT T e TR ______ EITm

Options:

1. % g

= R e e
2. ¥ et
4. % T
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Question Number : 25 Question Id : 922079425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

& 75 kW, three-phase, ¥-connected, 50 He, 440 V cylindrical rotor synchronous motor runs with the
efficiency of 95%. What will e the armature current?

Options:

1.v 1294
2 % 1394
3 0% 1494
4 % 1594

Question Number : 25 Question Id : 922079425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
T 75 kW, d9-0, Y-8, 50 He, 440 V S@-T@R) guid frawiicid AR 95% TaaT & d1 o 151 51 STHa e a7

Options:

1.v 1294
2 % 1304
3 0% 1494
4 % 1594

Question Number : 26 Question Id : 922079426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following lamps has the longest typical life {n hours)?

Options:

1. # Incandescent lamp
2. ® Fluorescent larmp
3. % Halogen lamp
|

. % High pressure sodium lamp

Question Number : 26 Question Id : 922079426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

TrafeET # & oy S0 &7 AreiE Siae (gt H) Tl daT Eare?
Options:

1. % gmgm S

2. % g S

3 % gAY

4. ¥ I T A aH S

Question Number : 27 Question Id : 922079427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wave winding is used in a.

Options:

1. # low voltage, high current machine
2. ¥ high voltage, low current machine
= ® high voltage, high current machine

4 ® ow voltage, low current rmachine
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Question Number : 27 Question Id : 922079427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

S U H e BT 2

Options:
1. % 19 aivedr, 3 oW AT

2. ¥ 3 diveqr, 9 4RI AT
3. ® g diFedr, I AR A4
4 % g dieear, 79 oy A=

Question Number : 28 Question Id : 922079428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

An eight-pole generator has 500 armature conductors and a useful flux per pole of 60 mwh, What will be the
EMF. generated if it is lap connected and runs at 1000 rpm?

Options:

1. ¥ 500V
2 % 750V
3 % 1000V
4 % 1500V

Question Number : 28 Question Id : 922079428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

gﬂﬂﬁaﬁsm SATHR FTeiek ST Hid e[ 80 rrwh T IUGIT STarg g1 i 9% o0 @it 51 #1000 rprm 0
umm B a1 Ieumied e anw 9w (E.MLF ) FT gy

Options:

1. ¥ 500V
z ® 750V
=z % 1000V
4. % 1500V

Question Number : 29 Question Id : 922079429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which cne of the following is MOT a gas discharge lamp?

Options:

1. % Metal halide lamp

2. % Sodium discharge lamp
=, ¥ OLED lamp

4. % Compact fluorescent lamp

Question Number : 29 Question Id : 922079429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

TafeTET § & @ O T oo S -1gl 57
Options:

1. % g geEes &M
o % @iz Tresiw o
= ¥ CLED 2
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4. % AT (RTF) WA Hee S

Question Number : 30 Question Id : 922079430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

For a four-pole two-layer, DC lap winding with 20 slots and one conductor per layer, the number of
corrmutator bars is:

Options:
1. % 160
= % 80
3. % 40
4 v 20

Question Number : 30 Question Id : 922079430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T AR-efd -1, ToF oy o et § 20 v o 0T W UF dTed o) (o iied @ AT di e Jd i
Options:

1. % 180

2 % 80

3 % 40

4. v 20

Question Number : 31 Question Id : 922079431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AT Oper] Circuit test is pEI‘fDI‘I‘ﬂEd o1 8 transformer to measure its:

Options:

1. ® copper l0ss
2. % iron loss

3. % total loss

4 # insulation resistance

Question Number : 31 Question Id : 922079431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Tt OieoTTTEE 0T AT Hiwer Uiy e w1 o TR e ST g
Options:

1. % gqmEgna

2. ¢ dg g

3. ¥ Far g

4 % Tre Aiderer

Question Number : 32 Question Id : 922079432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following transformer tests requires an additional transformer?

Options:
1. % Sumpner's test
2. % Direct loading test

% % Open circuit test
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4 % Short circuit test

Question Number : 32 Question Id : 922079432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T it aitgr # @ foad wer orfd iR TRomiee o snasawaT gt a7

Options:

1. & U= T T
2 % ooy GWOT g
3. % AT Ol qLrgT
4 % e Ol gt

Question Number : 33 Question Id : 922079433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Efficiency of the alternators having power rating of 1000 MW or abowe is of the order of!

Options:
1. % 05
o %07
3 %09

4 ¥ 099

Question Number : 33 Question Id : 922079433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
1000 MW 2T 21T @7 it STIHd o dlet TodTdid o1 GaT & ®Ie _________ G

Options:

1. % 05
2 %07
3 %09
4. ¥ 0,99

Question Number : 34 Question Id : 922079434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
which of the following instruments can have a full-scale deflection of 200°7

Options:

1. % Moving coil
2. % Moving iron
= ¥ Induction
4. % Hot wire

Question Number : 34 Question Id : 922079434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T o 9 Tore 93 © 300° @7 qui-Amg feroeT g1 HeraT 27
Options:

1. % = et

2 % aAdg

3 ¢ TR
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4 ® gmaw

Question Number : 35 Question Id : 922079435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

An alternator has 18 slots per pole and the first coil lies in slots 1 and 16, Calculate the pitch factor for
fundamental.

Options:

1.9 0.966
2 % 0707
3. % 0667
4 % 0259

Question Number : 35 Question Id : 922079435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T WedTa G A Hid & 18 Wi § 3 Ugell frael! Wi 1 3 16 # g1 1 o [o] STaere 1orer (e fhered) o 07T e
Options:

1. % 0,966

2 % 0707

3. ® 0667

4 ® 0259

Question Number : 36 Question Id : 922079436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In a two-pin plug, which of the following connections is absent?

Options:

1. = MNeutral
2. % Earth
3. % Phase
4 % Line

Question Number : 36 Question Id : 922079436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T fg-fi w #, g § & @1 J7 G aruiedT g av
Options:

1. % ggrde

2. e

Z % T ()

4 ® @EA

Question Number : 37 Question Id : 922079437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
[rsulation resistance between the conductors is measured with the help of a:

Options:
1. % voltmeter
o ® Ammeter

= ¢ Megger
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4 % Galvanometer

Question Number : 37 Question Id : 922079437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AT o o fel T Wi erer &1 AT W FETEET  F AT 2

Options:

1. % FieeheT
2 % Ut

3z v O

4 ® T

Question Number : 38 Question Id : 922079438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which one of the following is the cheapest method of earthing?

Options:

1. ¥ Pipe earthing

2. % Plate earthing

Z. % Earthing through water mains

4. ¥ Rod earthing

Question Number : 38 Question Id : 922079438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT & TTeraT TOeT | S Hel HET 87
Options:

1. % gEq qETET

2. % T gEe

3. ® SF U (water mains) & AT & HTEh
4 & §Z qawhd

Question Number : 39 Question Id: 922079439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
An alternating current is given by the expression, i it) = €0 sin 314 t. What is the frequency of this current?

Options:
1. % S0Hz

> ® 100Hz
. ® SO0 Hz
4 % 1000 Hz

Question Number : 39 Question Id : 922079439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

e WeaiTerd | T T HHIER0 i () = 60 5in 314 t Tz Fom g1 6 oy &7 s @1 g
Options:

1. ¥ S0 Hz

2 % 100Hz

3. ® SO0 Hz
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4 % 1000 Hz

Question Number : 40 Question Id : 922079440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

An alternating current of 50 Hz has a maximurm value of 200 4 Reckoning time from the instant the current
15 zero and is becorming positive, calculate the time taken for the current to reach 150 A for the first time.

Options:

1. % 23ms
= ¥ 27 ms
3 % 73ms
4 % 127 ms

Question Number : 40 Question Id : 922079440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

S0 Hz & U DedTad | T &7 STE@aH A 200 A 21 TTea i ST & M1 @1 374 & 1 95 AcHE 5f 751 51 4R & Ogel aw
150 & T gz H T oTel GHY i 0T e i

Options:

1. % 23ms
2. ¥ 27 ms
3 % 73ms

4 ® 127 ms

Question Number : 41 Question Id : 922079441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhich of the following materials is NOT an insulator?

Options:

1. ¢ Germaniarm
2 % Mica

3. % Glass

4. % Rubber

Question Number : 41 Question Id : 922079441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Torg @ @ty ot amanft g Fregnedt gt 2
Options:

1. ¢ SHi

2 ® amgw

3 ® @

4 8w

Question Number : 42 Question Id : 922079442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
For D motor, which of the fOllOR-'-.?iﬂg characteristics 15 called electrical characteristic?

Options:
1. % Speed and Torgue characteristic

2. % Speed and Armature current characteristic
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3. % Speed and Field flux characteristic

4. ¥ Torque and Armature current characteristic

Question Number : 42 Question Id : 922079442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Tew e e & fony, Ty o & T 107 arerar TardeaT @t foega 17 @gT ST 27

Options:

1. % T o e et R

2 ® T ST arHeR AT fedeaT

3 % T et g ariETy e

4 o et oI STHeR ARy fedeaT

Question Number : 43 Question Id : 922079443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The function of the starter in a D motor is;

Options:

1. ® tgincrease the flux

2. % toincrease starting current
3. ¥ to reduce starting current

4. # to decrease the resistance

Question Number : 43 Question Id : 922079443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
o oY Alet # T2e7 &7 FaT e 57

Options:

1. % srivErg agT

2. % WA JWT B AT
3. o I T WA
4. % OiETr &1 wH AT

Question Number : 44 Question Id : 922079444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the fOllO‘.ﬁ.i"iﬂg methods of speed Ccontrol 15 used to control a DT motor's spead above the base speed?!

Options:

1. % Armature resistance control
2. ¥ Field flux control

3. % Armature voltage control

4. % Supply frequency control

Question Number : 44 Question Id : 922079444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MTHT A & S0 T2 2R #let and &1 =aia o7 & 150 g o & fope aner == 1atsr @ 3w e s g7

Options:
1. % e wigere oo

2. ¥ g7 sty e
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3. ¥ e deear T
4, % gar g e

Question Number : 45 Question Id : 922079445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A 500 V shunt motor runs at its normal speed of 250 rpm when armature current is 200 A. The armature resistance is

0.12 €. What will be the speed of the motor when a resistance is inserted in the field reducing the shunt field to 80% of
normal value and the armature current is 100 A?

Options:

1. % 220rpm
2. % 270 rpm
3. ¢ 320 rpm
4. % 370 rpm

Question Number : 45 Question Id : 922079445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

U 500 V /T HIET 200 A 3THTR YRT YR 30 HHEF] 916 250 YU Ufd f-e g gedl 81 s uickiY 0.12 Q
:%él Aiex &1 91d o1 gl o & | 9y Us ufcRiY S H1F 61 806 T &F &H BHdl & 3R ATHTY URT 100 A

Options:

1. % 220 guiq ufd fiqe
2 ® 270 guiF o e
3. ¥ 320 uid Ui e
4 % Z70 Ui o e

Question Number : 46 Question Id : 922079446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhich of the following motors is rarely used?

Options:

1. # Cumulative-compound DC motor
2. % Differential -compound DC motor
% % DC series motor

4 # DC shunt motor

Question Number : 46 Question Id : 922079446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TgfeaT § & TopT Wiey &7 SU= e of @1 Topar =T 27

Options:

1. % wereit-=nie foe o atet
= ¥ SEme-dITe 2F 4T 3e)
2 ® o Ry Al g

4 ® [2F oW 97 A7

Question Number : 47 Question Id : 922079447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Ir1 Dz rotors, mechanical 1os5es means:
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Options:

1. % Friction and windage losses
2. % Copper losses

Z. % Hysteresis losses

4. % Eddy current losses

Question Number : 47 Question Id : 922079447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Tom aRT (DC) A 8, AT g %7 7T a5f 27
Options:

1. ¥ oy e areg- ey TRy

= % gmET

3 % el g

4, ¥ faw-erT 5T

Question Number : 48 Question Id : 922079448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The main function of interpoles is to minimise
D machine is loaded.

between the brushes and the comrmutator when the

Options:

1. # friction
2. ¥ sparking
% % current

4, % wear and tear

Question Number : 48 Question Id : 922079448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

SITTTa &7 gE Herrd, ToF erwT g @ AT B 0T g o) et e e T I & W FCAT AT 2
Options:

1. % oy
2 ¥ Tl

3 % g

4. ® e o g (fERr U= feem)

Question Number : 49 Question Id : 922079449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Ina 10-pole, lap wound DC generator, the nurnber of active armature conductors per pole is 50, The number
of compensating conductors per pole is:

Options:
1. % 50
o % 25
3 % 10
4 5

Question Number : 49 Question Id : 922079449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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T 10-3d, 70 FEierd 0¥ IR AT H, Uid <[ A0 Hax arew S0 g1 Wi o W@ aTew! &1 el J &4
Options:

1. % 50

o % og

3 %10

4 5

Question Number : 50 Question Id : 922079450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Thyristor chopper circuits are employved for:

Options:

1. ¥ lowering the level of a DC voltage
2. % rectifying the AC voltage

3. % frequency conversion

4. ¥ providing commutation circuitry

Question Number : 50 Question Id : 922079450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

e AT TR o Terg i gid 2
Options:

1. ¥ 127 o IiecdT o ©9¢ BT FH B

2. ® veATad] ORI dlvedT & ToEE

3 % g ofead

4. % Teenivad 7 ufvoedt 37

Question Number : 51 Question Id : 922079451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Magnetisation curve of a A gnetic raterial 15 a graph betweaern:

Options:

1. % flux density and reluctance

2. % flux density and electrical field intensity
= ¢ flux density and magnetic fisld intensity

4 # flux and reluctance

Question Number : 51 Question Id : 922079451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T Z[eeh 17 ATHT T T e e __________ & AT U TTF 21
Options:

1. % ivErs ovcd oY Tiaed

2. % gvETE TFeg o TeEd o diar
3. ¥ VT OFcd S el 8 o T
4 % grfraErg o nidey

Question Number : 52 Question Id : 922079452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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If 10 resistors, each one having 10 £ resistance, are connected in parallel, the equivalent resistance of the parallel
combination will be:

Options:
1.« 10Q

[
Ln
r

o R

Question Number : 52 Question Id : 922079452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
g 10 Q YIRS & 10 VRIS FHHIGR H S 8 dl GHMIGR GH=d S qed WicRIeEal 1 8112

Options:

5 % 250
o & 50

Question Number : 53 Question Id : 922079453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhat will be the resistance of a resistor with the colour code of brown, black, 20ld and silver?

Options:
1 % 10Q+10%

> % 20Qx10%
3 % 1002+5%

4 1Q£10%

Question Number : 53 Question Id : 922079453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T WA ol WA 2k [ T g FeRT 7 ®ig S, AT, TRl 3 T 517
Options:

;% 10Q+10%
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> % 20Q +10%
2 % 10Q +5%

L 1Q+10%

Question Number : 54 Question Id : 922079454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhich one of the following is a secondary cell?

Options:

1. ¥ voltaic cell

2. % Daniell cell

% ¢ Lead-acid cell

4. % Dry cell

Question Number : 54 Question Id : 922079454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
o 3 & 9 O T e G 27
Options:

1. % gifees a4

o ® Zid A

3. T -l A

4 % g He

Question Number : 55 Question Id : 922079455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

The ratio of output watt-hours during discharging to the input watt-hours during charging of the battery is
called of the battery.

Options:

1. ¥ capacity
2. % guantity
% % power

4 ¢ energy

Question Number : 55 Question Id : 922079455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
éﬁ&ﬂ%ﬁ;ﬁh(ﬁ?ﬂm%@ﬂ?ﬁﬁnm—ﬁmﬁéﬁ%aﬁm%@ﬂ?ﬁwm—ﬁﬂ%aﬁaaﬁwaﬁﬁfﬁ
ARG

Options:

1. % i (mam

2. % g

3 % gih

4 Z=t

Question Number : 56 Question Id : 922079456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 WrongMarks: 0

For a fully charged lead-acid battery the specific gravity of the electrolyte (sulphuric acid) is:
Options:

1.¥ 12810 1.29

2 % 12310125

Z % 115w 1.16

4 # pelow 1.13

Question Number : 56 Question Id : 922079456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ot srerfde HieT- e der & o e smaer (aeriver s T e aee

Options:

1.v128%1.29
2 % 12391.25
3 % 11591.16

4 ® 112977

Question Number : 57 Question Id : 922079457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which one of the following cells has the longest life?

Options:

1. ® Nickel-Cadrmiurn cell

2. ¥ Solar cell

o, * Lead-acid cell

4. % DMickel-irorn-Alkaline cell

Question Number : 57 Question Id : 922079457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: O
Torg 7 & oy |t 7 S Te Hae Fal 5T &7

Options:

1. ® Tepe-F s 9e
2 o G A

2 % AT - Ao

4 R Trhe-wig- S g

Question Number : 58 Question Id : 922079458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A battery of 80 V E.M.F. and internal resistance of 2 € is to be charged from 200 V mains. What is the value of series
resistance for charging current of 5 A?

Options:

1 ® 20
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Question Number : 58 Question Id : 922079458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

80 v faggd 918® 90 (EM.F) 3R 2 Q $ 3fdR® WY & T dedt 200 v H (mains) J ARG ERT 815 A
DI A= URT & T SUft gfeRiy &1 A o1 g?

Options:
1 B 20

5 % 120
3¢ 220

L% 320

Question Number : 59 Question Id : 922079459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Ohm's law is true for:

Options:

1. ¥ non-metallic conductors

2. % non-linear devices

=% metal conductors at changing termperature

4. % metal conductors at constant temperatura

Question Number : 59 Question Id : 922079459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

3 T T o Toiy w51 8

Options:

1. % R-eicare anee!

2 % aitiEw Iuwt

3. % Fgod TUEH U AT A
4 T TI0AT T T et

Question Number : 60 Question Id : 922079460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In hand soldering, the tip of the soldering iron is heated to a ternperature of:

Options:
1. % 300°C to 350°C

= % 100°%C to 150°C
T ® 150°C to 200°C
4 ® 200°%C to 250°C

Question Number : 60 Question Id : 922079460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 WrongMarks: 0

Td diest (T1 |, T8 @ a6 Ay A w0
Options:

1. ¥ 200°C ¥ 350°C

2 % 100°C ¥ 150°C

3 % 150°C ¥ 200°C

4 # 200%C 9 250°C

Question Number : 61 Question Id : 922079461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What will be the power consumed by the resistor of 5 k€2 connected with a source of 30 V?
Options:

1. % 18w

2. ¥ 180 mw

= % 13w

4 % 18 mw

Question Number : 61 Question Id : 922079461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

30 V& 9Id ¥ 9e 5 kQ & Ui UioRID GIRT Qfckd & @ud 1 gri?

Options:

1. % 12w
2. % 180 mwW
So% 18w

4 = 18 mw

Question Number : 62 Question Id : 922079462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wwhich of the following insulators has the highest resistivity™?

Options:

1. ¥ Paper
2. ® Glass
3. ¥ Teflon

4 % Mica

Question Number : 62 Question Id : 922079462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

oy o & T Taega- et &t ofdreraraT Sewt arfeler gl T 27
Options:

1. %

2 % g

2. ¥ TEA

4 ® g
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Question Number : 63 Question Id : 922079463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A coil has a resistance of 18 Q when its mean temperature is 20°C. The same coil has a resistance of 20 €2 when its

mean temperature is 50°C. Find its mean temperature rise when its resistance is 21 Q and surrounding temperature is
5%

Options:

1. % 20°C
2. % g5°C
3. % 45°C
4 ¥ 50°C

Question Number : 63 Question Id : 922079463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

U ol i HiaRIYHdT 30+ 20°C HIEH UM W 18 Q g1 50°C I AIYHF UR 58 ol i HaIHdhdr 20 Q
gl & | 918 SUP! UfeRIHdl 21 @ 3R GRAR diuHM 15°¢ 8l dl sHP! 718 d1aqH gfg &1 giifle

Options:

1. % 20°C

2 ® B5°C

3 ® 45°C

4 ¥ 50°C

Question Number : 64 Question Id : 922079464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
which one of the following is NOT a method for desoldering?

Options:

1. ¥ Erass wool

2. ® Solder sucker

= % vacuum desoldering tool

4 # Solder wick

Question Number : 64 Question Id : 922079464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TR B & ® TieT R Ta (S Elee ) @& 0 ot gl g?
Options:

1. dida 7 (58 I

2 % divet g (@ieet )

3. % Taofs St s

4. ® HigeT Al

Question Number : 65 Question Id : 922079465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The smallest amount of charge that exists is the charge carried by:

Options:
1. % an atom

2 % 3 neutron
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2. ¥ an electron

4. % a combination of an electron and a proton

Question Number : 65 Question Id : 922079465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T O T e Tt v e e g & @ BT AT BT 1

Options:

1. %

e A

3. ¢ gaaga

4. % g A W A

Question Number : 66 Question Id : 922079466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The total work per unit charge associated with the rmotion of charge betweeerl two pOoints 15 callad:

Options:

1. % Current
= ¥ Voltage
2 % Flux

4. % Charge

Question Number : 66 Question Id : 922079466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

1 Teigalt o effer Trerar & 1T o Helg Gt 1 Wid Seh1S SITElST Bl T gl AT 57
Options:

1. % oWy

2 gieed

2 ¥ iy
4 % g

Question Number : 67 Question Id : 922079467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhat i3 the full form of O5HA?

Options:

1. ¥ Ccoupational Safety and Health Administration
2. % Organization for Safety and Health Assistance
% % Organization for Safety and Health Authority
4. % Official Safety and Health Act

Question Number : 67 Question Id : 922079467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
OSHA &7 0 #7 a7 27

Options:
1. ¢ Occupational Safety and Health Adrministration (STg0es G0 U8 gred TS HEs am)
2. % Organization for Safety and Health Assistance (ATATE=SE B AF T U Bo TEEE)
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% % Organization for Safety and Health Authority (31219 BT 9F UF 5727 SRTen
4. % Official Safety and Health Act (TR S0 U2 5737 TF2)

Question Number : 68 Question Id : 922079468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

For the given circuit, obtain the value of Rx, if Vs= 12 V. RI1 =R2=R3 = | kQ and Vab= 12 mV.
Options:

1 =B 1 kO

> o 996 ()

5 % 9.96 kO

4 % 99.6 kO

Question Number : 68 Question Id : 922079468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

d
U MUUROY & U Rx BT AN A S ST 8. Vs =12 V.RI =R2=R3 = 1 kQ 3R Vab= 12 mV.

Options:
1 ® 1 kQ
5 996 Q

2 % 9.96 kQ

4 % 99.6kQ

Question Number : 69 Question Id : 922079469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The trend in LED lighting output and light cost continues to follow:
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Options:

1. ® Faraday's law
2. % Fleming's law
= # Kirchhoff's law
4 ¥ Haitz's law

Question Number : 69 Question Id : 922079469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
LED Ff&a farin o uemsr g | ngia

Options:

1. % T2 o fram
2 % i |
3 ® T & e
4. & e T

Question Number : 70 Question Id : 922079470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Speed-torque characteristics of a universal motor are sirilar to that of a:

Options:

1. ¥ synchronous motor

2. % DC shunt motor

%, % geparately excited DC motor

4. % [C series motor

Question Number : 70 Question Id : 922079470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

U ATe 3 AleE & 16 — a0 oemang
Options:

1. % geemTieT e

2 % FFemr (DC) 97 Ale

% % mor T faE AT gEe

4. ' T2 oy At Al

__________ T T —aIeTeo! saTelt & FuT a1 gl

Question Number : 71 Question Id : 922079471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

A& universal motor in its DC operation produces back emf of 200 W at a speed of 2000 rpm. What will be the
back ernf if the same motor in its AC operation runs at a speed of 1500 rpm?

Options:
1. % 100V

= W 150V
S % o0V
4 ® ooy

Question Number : 71 Question Id : 922079471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

T ATe A Ak, S+ fiE ey vane #, 2000 rpm & ans i 200V T 0 [Hed an® e (back ermnf) Ieamed Fdt gl TG
TR AT S0 earTad | Wy WeTes § 1500 rpm & o & gdt af v e ans a9 gime

Options:
1. % 100V

= W 150V
S % o0V
4 ® ooy

Question Number : 72 Question Id : 922079472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

According to 151 standard specifications no. 722-1962, in pipe earthing the length of the galvanised pipe
should NOT be less than for ordinary soil.

Options:

1. ¥ 2 metre
2. % I metre
= % 4 metre
4, % 5 metre

Question Number : 72 Question Id : 922079472 Question Type : MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

151 wTer fafAde J%ar 732- 1963 & TR, WW(S@TJ H, A HaT o 6l A ST T T (MeraTees) TS i
T aT ATAT 5 ST e T @A gl 3

Options:

1.9 oY
o ® 3ART
3 % 4 AR
4 ® S HART

Question Number : 73 Question Id : 922079473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The current in an electric circuit is analogous to in a magnetic circuit.

Options:

1. # reluctance
2. ® permearnce
3. 9 flux

4. % ampere-turns

Question Number : 73 Question Id : 922079473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Tergge uiver # e ey wivmer #
Options:

1. % ygigey

2 % gEmeaTadr

3. ¥ vEE

4 ® dige-ad (T - 7-6)
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Question Number : 74 Question Id : 922079474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

& conductor of length 0.5 mmoves in a uniform magnetic field of density 1.1 T at a welocity of 20 m/s. What
will be the induced voltage in the conductor if the direction of motion is perpendicular to the field?

Options:
1.¥ 165V
2 % 165V
. ® 33V

4 ® 33y

Question Number : 74 Question Id : 922079474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

0.5 111 FalTe & T Tiet 30 s FeTHE 1.1 T Oecd & UFHa0 dahla 55 8 26 151 31 i T &1 T 55 & sead 51 ar
NA® | UieT dieedr @2 g7

Options:

1. ¥ 165V
2 ® 165V
3 % 33V

4 ® 33V

Question Number : 75 Question Id : 922079475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
In the given diagram showing a circuit, if Vs2= 12 V, V1 =6V and V3 = | V, then what will be the value of V27

Options:
1. % 19V
2 ® gV
3. V5V
4 ® 25V

Question Number : 75 Question Id : 922079475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

fSTT 717 2RE Ush Uy f&@rdi g1 afg Vs2 = 12V, V1 = 6 V 3[R V3 = 1 V81 d V2 &I §1H 991 gFTI?

Options:
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1. % 19y

o R gV

2 Y5V

4 ® 25V

Gerneral Aptitude Section

Section Id : 92207910
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 25
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 92207910
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 922079476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhich article of the Constitution was revoked by the [ndian Governrment on Sth August 20197

Options:

1. % Article 370
2. % Article 371
3. % Article 290

4 ® prticle BER

Question Number : 76 Question Id : 922079476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
S BT 2019 1 AT AR He T @ T afed g @1 0ed & 14T 417

Options:

1. ¢ arRdg 370
2 % arEdg 371
3. % arfedg 290
4 % arfEdg 666

Question Number : 77 Question Id : 922079477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhich country gives habitat to nearly 75% of the global tiger population?

Options:

1. ¥ Malaysia
2. % Thailand
= ¢ India
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4. % Bangladesh

Question Number : 77 Question Id : 922079477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
IS amet & ST T @A 7 5% Tardt anT e Sar | e a2

Options:

1. % motfdar
2 ¥ gEdz
3 ¥ gRT

4 R gerea

Question Number : 78 Question Id : 922079478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wwhich of the following famous Buddhist pilgrimage centres is located at a distance of 10 km from Varanasi?

Options:

1. ¥ Maha Bodhi Termple

2. % Parinirvana Stupa at Kushinagar
Z. ¥ Dhamek Stupa, Sarnath

4. % Dhauli Shanti Stupa

Question Number : 78 Question Id : 922079478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT H & I T Wieg oy F e aorEt & 10 kery @1 o0 ot 6 57
Options:

1. % ggraite Afew

2 % et # gt g

3. ¥ T 40, IR

4 % it aifd &g

Question Number : 79 Question Id: 922079479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
The festival of Bihu is celebrated in the state of:

Options:

1. ® Cdisha
2. % Manipur
3 ® Sikldm
4. ¥ Assam

Question Number : 79 Question Id : 922079479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Telg &7 Jodel 56 Tal § T ST
Options:

1. % arfzam
2 % g
3. % fafgw
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4 ¥ 3EF

Question Number : 80 Question Id : 922079480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Recently tax rates of which category of wehicles were reduced to 5 percent from 12 percent?

Options:

1. % Electric vehicles

2. % Ethancl vehicles
% % Gascline vehicles
4. % Hybrid vehicles

Question Number : 80 Question Id : 922079480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
o1 o # Torey it 2 amgaf & o oF 12 nideT & TeTe S Wit ad @ & e

Options:

1. Tl & g
2 ® ZOHIA & aEd
3 % e o A

4 % FEfE aET

Question Number : 81 Question Id : 922079481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who was the Chairman of the Committee which was constituted for Draft Mational Education Policy 20197
Options:

1. # Dr. Yashpal

2. # Dr. Chandrashelkar Subramanyar

% % Dr. Deepak Singh
El

% Dr. Kasturirangan

Question Number : 81 Question Id: 922079481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
S @R weteT (g Tt e T 2019 3 Ty i & 18 SE sreay B 9

Options:

1. % =T Fammer

2 % ZT dgire geEavad
3. % =T dmw e

4 & 2T IR

Question Number : 82 Question Id : 922079482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Who was appointed as India's 17th Zhief Economic Advisor on 7 Decernber 20187

Options:
1. % Arvind Panagariva
2. ¥ Arvind Subramanian

3 Erishnamurthy Subrarianian
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4. % Rajiv Kumar

Question Number : 82 Question Id : 922079482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
7 Toee® 2018 ®T WA & 17 o g&g aiMidis Segar & &0 § o ugi-gs T mar?

Options:

1. % sRfde wemiear
2 % aride gedmad
3. Fud gEATe
4 % T R

Question Number : 83 Question Id : 922079483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

As per the Central Statistics Office (C50), the Gross Dormestic Product (GDP) of India for 2018-19is likely to
Eriome at:

Options:
1 ® 7.8%

> B 8%
= o 7.2%

4 % 6.5%

Question Number : 83 Question Id : 922079483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
e 12T AIRE2Teh T ey (& 0arl) o aTgaw, 2018-19 & o0 R & el 9ie] 20015, (SIS 00 & dg-1 &1 HTaemdT a1 57

Options:

| % 7.8%
o R 8%
= v 7.2%

4 % 6.5%

Question Number : 84 Question Id : 922079484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of these states junion territories does not share a border with Pakistan?

Options:

1. % Jarmmu and Kashrmir
2. % Rajasthan

Z. # punjab

4. ¥ Harvana
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Question Number : 84 Question Id : 922079484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TREFET A g BT AT Teg | g AT 0SS UTeREd T oF ST S AT @IS AR #aT 57

Options:

1. % 77 oK AR
2. % TR

3. % T

4. & g

Question Number : 85 Question Id : 922079485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Delhi was granted partial statehood in:

Options:

1. % 1995
z ¥ 1993
3% 1999
4. % 1997

Question Number : 85 Question Id : 922079485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Tewell W ST T @ 2= o9 o8 | T T

Options:

1. % 1935
2. % 1993
3% 1993

4. % 1997

Question Number : 86 Question Id : 922079486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Ir1 a certain code, LOTUS 15 writterl a5 87 and WiORES 15 written as 36, How will OUTWOREKS be written in that
code?

Options:

1. % 123
= % 147
3. % 129
4 ¥ 142

Question Number : 86 Question Id : 922079486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
U ST #iE # LOTUS &1 87 3T WORKS #1186 & w7 # ey mar 51 sa oz # QUTWORKS 3 ferar Fmomm?

Options:
1. % 122

2. % 148
3. % 139
4. ¥ 142
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Question Number : 87 Question Id : 922079487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Arrange the following words in a meaningful order.

1. Telangana 2. Universe = World 4. India 5 Hyderabad
Options:

1. %15 423

o2 34 1,5

3 %541, 32

4 %32 451

Question Number : 87 Question Id : 922079487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TR deal ® Trfe 70 § e e

1. d&HT 2. WEpe 3. TP 4. IRT S, seieg
Options:
1. % 1,5 4 2 3

W23 415
2 #5413 2
4 ® 32451

Question Number : 88 Question Id : 922079488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the option that can replace the question mark (?) in the following pattern.

D|EE
X ?

Options:
P
] .
Bxd
o 8 —

4.

Question Number : 88 Question Id : 922079488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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afaRgd et & Uy g (7) &1 oifTe IR UiaA1Ud 8 Gh ard fddhed ol g |

D |EE
X ?

Options:
o
1%
B4
2 ® —
[=]=]
oo
z ®
4 &

Question Number : 89 Question Id : 922079489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Read the given statement and conclusions carefully and decide which of the conclusions logically follow(s) from the
statement.

Statement:
Adversity makes people wise.

Conclusions:
1. The poor are wise.
2. People learn from bitter experience.

Options:

1. % Only conclusion 1 follows.

2. ¥ Only conclusion 2 follows.

= % Both conclusions 1 and 2 follow,

4. # Neither conclusion 1 nor 2 follows.

Question Number : 89 Question Id : 922079489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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feu Ty 2R fhd &f o= U U¢ R fvf @ e syn I e a1 A ey aifhe &0 I 39 @@ g

DY
g @Rl &l gfGHH S 8

e e 3
s |
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Options:

1. % e - 1 0 9T 5]

2, ¥ e - 2 Be T A

3 % fomgd 1 o 2 g HA |9

4, % FF7TmE 1 oW TE 2 B TET R

Question Number : 90 Question Id : 922079490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Four words have been given, out of which three are alike in some manner and one is different. Select the odd
QT2

Options:

1. ¥ September
2. ¥ January
Z. % June

4. % April

Question Number : 90 Question Id : 922079490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
=T e e iy € T & ot T e & A w1 & A U st 31 TEe @ o we

Options:
1. % Toger
2. ¥ Fae
3 %o
4 % e

Question Number : 91 Question Id : 922079491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
select the Venn diagrarm that best represents the relationship betveeern the fOllOW‘iﬂg Classes.

Men, Fathers, Journalists
Options:

1.%'3
-
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Question Number : 91 Question Id : 922079491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T ST T = e Al TR a1 & o el Serel! @7 T id e ear gl
e, O, T

Options:

1.%'3
2%@

L@

Question Number : 92 Question Id : 922079492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Eight people — A, B, C, D, E. F, G and H —are standing in two parallel rows facing each other. There are four people in
each row standing at equal distance.

E is between A and H and just opposite to B.
F is at one end of a row and to the immediate right of B.
G, who at one end of a row. is diagonally opposite to A.

Which of the following statements is definitely true according to the given information?
Options:

1. ® Cisadjacent to H.

2. ¥ His adjacent to E.

Z. % G is either to the immediate left or to the immediate right of D

4. % Dis diagonally opposite to F.

Question Number : 92 Question Id : 922079492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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I AR — A, B, C, D, E, F, G AR H - & YHITR Uil § U GO & 9T TS o | Ueid Uled § IR dlf 9o
[RURRRGE]

E.A AR H$ &9 AR B & i IH g
F Uch Ufdd & fbdll R W 3R B & i alfg 2
G Ol Ueh Ul & Ush SR W &, A & dapuiad ([dves) f[ausia g

FOfaRed o O 3F 91 HYF § 31 T8 IFSR! & uR MiEd &0 9 98l 82

Options:

1. % CH & |diT

2 ¥ HE raim g1

. R GATTTD & TodTA T8 I AT TedTA S8 1T ]
4. % D F & Towviaa w31

Question Number : 93 Question Id : 922079493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Select the option that is related to the fourth term in the same way as the first term is related to the second
termmn.

Karnataka : Bengaluru 7 Chandigarh
Options:

1. ¥ Madhva Pradesh

2. ¥ Punjab

3. ¥ Eihar

4. % Rajasthan

Question Number : 93 Question Id : 922079493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % megud
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Question Number : 94 Question Id : 922079494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Anitha, Aarav, Pranay, Yeshwan and Hiran are sitting on a bernich. Anitha is sitting next to Aarav; Franay is
sitting next to Yeshwan,; Yeshwan is not sitting riext to Hiran, who is on the left end of the bench. Pranay is
sitting second from the right end. Anitha is to the right of Aarav and Hiran. Anitha and Pranay are sitting
together. In which position 15 Anitha sitting™

Options:

1. ¥ Between Aarav and Yeshwan
2. ¥ Between Aarav and Pranay
3. ® Between Hiran and Yeshwan

4. % Between Pranay and Hiran
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Question Number : 94 Question Id : 922079494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1. % N 37 T o S
2. ¥ e 3 U W A
3. % TEEr oY e o s

4, % gy ST T5Y0 o AT

Question Number : 95 Question Id : 922079495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
select the nurrber that can replace the question mark () in the fDllDWiﬂg SETIES.

21, 45, 23, 48, 27,7, 33, 54
Options:
1. ¥ 51
= % 50
3. % 52
4. % 45

Question Number : 95 Question Id : 922079495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TRTerET e § we g (7) &7 g Wi e 51 Fe aet fedr ® o

21, 45, 23, 48, 27,7, 33,54
Options:
1.¥ 51
2 % 50
3. % 52
4 % 49

Question Number : 96 Question Id : 922079496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

E men and 10 wormnen can finish a work in 2 days. It takes S0 davs for 1 man alone to finish the same worls,
How many days will be required for 1 worman alone to finish the worlk?

Options:

1. % 40.4

= ¥ 428

3% 208

4. % 322

Question Number : 96 Question Id : 922079496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % 40.4
o ¥ 428
3 % 308
4 % 320

Question Number : 97 Question Id : 922079497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

& milkrman sells milk at its cost price, but he mixes water with it so that he gets a profit of 8.23% What is the
armournt of water he mixes in 1 L of the mixture?

Options:

1.9 76.92 mL
2. % 5534 mL
3. % 7256 mL
4, % £6.95 mL

Question Number : 97 Question Id : 922079497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
1. % 7692 mL

> ® 5534 mL
3 ® 72568 mL
4 ® 58983 mL

Question Number : 98 Question Id : 922079498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The profit earned by selling an article at T6535 is equal to the loss incurred by selling the same article at T555. What
should be the selling price of the arfiele to get a profit of 40%7

Options:
1 ® %750

-~ % 2678
= o T847

4 % 2699

Question Number : 98 Question Id : 922079498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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. % 750
o % 3678
2 @ 3847

4 % 3699

Question Number : 99 Question Id : 922079499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

For any two numbersaand b, (a+b) : (a—b) : (ab) =4 : 2: 15. Find the ratio of (1) : G) 4
a

Options:

Y g R

h

e W

Question Number : 99 Question Id : 922079499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
=gl alGamei a iR b & T (a +0)</(@a-b) : (ab) = 4:2: 1581 (2) : (2) T U1 I B

Options:
1 13

o W 3:5
= T2

4 B 23

Question Number : 100 Question Id : 922079500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If 79050 is divided by 425, the quotient is 126, What will be the quotient if 79 050 is divided by 0.01867

Options:
1. % 425

o #4001
3 # 425
4 & 4250
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Question Number : 100 Question Id : 922079500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Ilg 79050 FT 425 & TTWIHT 0T FET 8, a1 ATTEA 186 ST 79.050 T 0.0156 & 9T & 0T HITEA T =T gI?

Options:

1. % 425
2. % 425
2% 425
4 ¥ 4250
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